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We have that, for 1 𝜆ൗ = 𝜈 =
ଵ

଴.଺ଵ଼ଵ
= 1,6178611875101116324219381977026  

Now, form eq. (73): 

 

we obtain: 

Pi^(((2(3-1.61786118751)/5))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.8830075... = v1 

 

exp(5/4*Pi^2) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

227978.248... = v2 

Thence, from: 
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we obtain, for  

v’’ = exp(5/4*Pi^2), v’ = 1.88300751760, d = 3, 𝜆 = 1.617861187510, V*’ = 1 and 
v = 1: 

exp(5/4*Pi^2) + (((1-3/2)*Pi-2))) * 1.88300751760 + (3-1.6178611875101) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
227972.906... 

From this result of eigenvalue equation, we obtain: 

1 / ((((((exp(5/4*Pi^2) + (((1-3/2)*Pi-2))) * 1.88300751760 + (3-
1.6178611875101))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
2.32948510438 * 10-6 

 

Then, performing the 27th root, we obtain: 

 

(((((1 / ((((((exp(5/4*Pi^2) + (((1-3/2)*Pi-2))) * 1.88300751760 + (3-
1.6178611875101))))))))))))^1/27 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.6185573... 

And: 

1/(((((((((((1 / ((((((exp(5/4*Pi^2) + (((1-3/2)*Pi-2))) * 1.88300751760 + (3-
1.6178611875101))))))))))))^1/27)))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6166648... 

The result 0.6185573... is very near to the following eigenvalue, above mentioned: 

 

precisely to the 𝜈 = 0.6181. We want to highlight that 𝜆 =
ଵ

ఔ
=

ଵ

଴.଺ଵ଼ଵ
=

1.61786118751 … , result very near to the golden ratio 1.61803398...! 

 

We have also: 

-233+10^4(((((1 / ((((((exp(5/4*Pi^2) + (((1-3/2)*Pi-2))) * 1.88300751760 + (3-
1.6178611875101))))))))))))^1/8 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1743.54857... result very near to the mass of candidate “glueball” f0 (1710) scalar 
meson 

 

Now, we have that: 

 

 

For 𝜙 = 5, p = 0.6181, Λ = 1, L = - 1, d = 3, x = 𝜋, λ > 0 = 1.61786..., Sint[𝜙] > 0 = 
3/2  and  K = 0.988136..., i.e. 

 

                                      = 0.988136… 

we obtain: 

1/2 integrate [25-0.6181^2*(1/0.998136)*(0.6181^2)+3/2]x 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plot: 
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and for x = 1, we obtain: 6.58844 

Furthermore, we have that: 

(6.58844 1^2)^tan(1/4) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6183390771568... a very good approximation to the value of golden ratio 
1.61803398... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  
  

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
  

And: 

1/ (6.58844 1^2)^tan(1/4) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
0.6179174773...  result practically equal to the previous eigenvalue 0.6181 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 
Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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For x = (27^2-21^2-5^2) = 263 

6.58844  (27^2-21^2-5^2) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
1732.75972 

This result is very near to the mass of candidate glueball f0(1710) meson. 

From Wikipedia: 

 

L'equazione di Polchinski coinvolge un cutoff di regolarizzazione ultravioletto liscio. 
L'idea di base è un miglioramento dell'equazione di Wilson: anziché un cutoff netto, 
si utilizza un cutoff liscio. Essenzialmente, i contributi dai momenti più grandi di  
sono pesantemente soppressi. Il cut-off liscio tuttavia consente di ottenere 
un'equazione differenziale funzionale nella scala  . Come nel caso dell'equazione di 
Wilson si ha un funzionale azione diverso per ogni energia di cut-off  . Ciascuna di 
queste azioni descrive esattamente lo stesso modello, questo significa che le funzioni 
di partizione devono coincidere esattamente.  

In altre parole, per un campo scalare reale  

 

 (a) 

e è realmente indipendente da . Qui stata utilizzato la notazione di deWitt. 
Inoltre è stata separato l'azione nuda  nella parte cinetica quadratica e nella parte 
interagente . Questa separazione non è banale. Infatti la parte "interagente" può 
contenere termini cinetici quadratici. Anzi, se la funzione d'onda viene 
rinormalizzata, li contiene sicuramente. Questo può essere ridotto introducendo un 
riscalamento dei campi. è una funzione del momento p e il secondo termine 
nell'esponente è 
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  (b) 

quando viene espanso. Quando  ,  è essenzialmente uguale a 1. 

Quando , diventa molto grande e tende all'infinito. è sempre 
maggiore o uguale a 1 ed è liscio. Sostanzialmente, il suo effetto è di lasciare le 
fluttuazioni con momento minore di  inalterati, ma sopprime fortemente i contributi 
dalle fluttuazioni con momento maggiore di . Questo è un netto miglioramento 
rispetto all'approccio di Wilson. 

Ricordiamo che: 

Nella teoria quantistica dei campi un campo scalare è associato a particelle di spin 0, come i 
mesoni. Il campo scalare può avere valori reali o complessi. Campi scalari complessi rappresentano 
particelle cariche. Un esempio di campo scalare è quello relativo all'equazione di Klein-Gordon 

In fisica teorica, il cutoff (o cut-off) oppure valore di taglio è un valore di soglia, massimo o 
minimo, associato ad una grandezza fisica, quale energia, impulso o lunghezza, e tale per cui 
oggetti con valori di queste grandezze fisiche superiori o inferiori al cut-off vengono ignorati. È di 
solito rappresentata all'interno di una determinata scala di energia o di lunghezze, come unità di 
Planck. 

 

From (a), with the above result and 𝐽 ∙ 𝜙 = 5, we obtain: 

Integrate [exp(-6.58844+5)]x 

Indefinite integral: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
 

For x = 102, we obtain: 

0.102122 (10^2)^2 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

1021.22 a result that is very near to the value of rest mass of Phi meson 1019.445 ≈ 
1020 

For x2 = ((27*4+1)e^2))/(27+21+2)) = 16.108142295668...; x = 4.0134950225..., we 
obtain: 

0.102122  ((27*4+1)e^2))/(27+21+2)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 

1.6449957... ≈ ζ(2) = 
గమ

଺
= 1.6449 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
  
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And we note that: 

sqrt((((((6*(((0.102122  ((27*4+1)e^2))/(27+21+2)))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1416515155... 

2sqrt((((((6*(((0.102122  ((27*4+1)e^2))/(27+21+2)))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
6.283303031... ≈ 2ℼ 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  

  

  
  

 

With regard the integral (b), we have, for 

  ,  equal to 1, p = 0.6181 and d = 3  

 

1/2  integrate [0.6181/((2Pi)^3) * 5 * 0.6181 * 0.38204761  * 5 * 0.6181]d^3x 

 After a bit calculus, we have: 

1/2 integrate ((((((0.6181))/((2Pi)^3)))) * 3.6490094076678025))))))x 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Plot: 

 
 

0.00227318 
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For x = 27, we obtan: 

0.00227318 27^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

1.65714822.. is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

This result (less 1) is very near to the value 0.6557: 

 

Note that 272 = 729 = 93 (see Ramanujan’s sum of cubes 63 + 83 = 93 – 13 = 728) 

Furthermore, we have that: 

((0.00227318)) (10^3)^2)+13 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

2286.18 result very near to the rest mass of charmed Lambda baryon 2286.46 

We have also that: 

0.00227318 (5^2*35)^2 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

1740.4034 result very near to the mass of the f0(1710) scalar meson candidate 
“glueball” 

For x = (27^2+12^2) = 873 

0.00227318 (27^2+12^2)^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

1732.4564... very near to the mass of f0(1710) scalar meson candidate “glueball” 

 

 

Now, we have that: 

 

For  

-1/(sqrt(2+21)) - 12 /(sqrt(2+13/5)) + 24 - (13*5)/2 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 
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-14.3035... 

We have also: 

233+55+ ((-10^2((((-1/(sqrt(2+21)) - 12 /(sqrt(2+13/5)) + 24 - (13*5)/2))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

1718.3543...  

This result is very near to the mass of candidate glueball f0(1710) meson. 

And: 

integrate (((((-1/(sqrt(2+21)) - 12 /(sqrt(2+13/5)) + 24 - (13*5)/2)))))x 

Indefinite integral: 

 Approximate form 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
 

That is equal to 

Input: 
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Open code 
 
 

For x2 =  -(2Pi^2), we obtain: 

(-17/4 - 6 sqrt(5/23) - 1/(2 sqrt(23))) * -(2Pi^2) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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(-17/4 - 6 sqrt(5/23) - 1/(2 sqrt(23))) * (colog(196884)2Pi^2) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 
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Decimal approximation: 

 More digits 

 
1720.91835... result very near to the mass of candidate “glueball” f0(1710) scalar 
meson 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

  

 

1/ (((((-17/4 - 6 sqrt(5/23) - 1/(2 sqrt(23))) * (colog(196884)2Pi^2)))))^1/16 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

0.627718579... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

  

And: 



26 
 

(((((-17/4 - 6 sqrt(5/23) - 1/(2 sqrt(23))) * (colog(196884)2Pi^2)))))^1/15 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 

1.6433018... ≈ ζ(2) = 
గమ

଺
= 1.6449 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
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  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

Further: 

((((((7Pi(-17/4 - 6 sqrt(5/23) - 1/(2 sqrt(23))) * -(2Pi^2)))))^1/16 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.65291094… is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 
Property: 
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Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representation: 

 
Open code 

 
 

  

  

  

 

The results 0.627718 and 1.652910 less 1, are very near to the following values of ω 
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From [73]: 

Field-Theoretic Techniques in the Study of Critical Phenomena 

C. Bagnuls∗ and C. Bervillier† C. E. A.-Saclay, F91191 Gif-sur-Yvette Cedex, 
France - January 18, 2018 

...at present: µ0 = e−l(2,3)Λ0 and let us consider it as the new fixed unit of momentum... 

...practically occurs in each case, on figure (B) we have artificially translated the 
“time” scales l = −ln(λ) (vertical dashed lines).... 

 

We have that: 

 

 

For  𝜙 = 5, p = 0.6181, Λ = 1, L = - 1, d = 3, x = 𝜋, λ > 0 = 1.61786... and μ = λ, we 
obtain: 

 

is equal to:    exp(-1/4*25) 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

0.00193045… 
 
Property: 

 
 

 

is equal to:   integrate [5 * 0.001930454136227709*(((((1/2*1.61786118751+ 
(((1/4*(1.61786118751)^2)))*((1-2ln(1.61786118751))))))]x 

Indefinite integral: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
 

For x = 𝜋, we obtain: 

0.0040233519241*Pi^2 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.039708... 

Now, from: 

 

Remembering that  

 

Where  

 

Is 

 

with minus sign, we obtain: 

-[5 * 0.001930454136227709*(((((1/2*1.61786118751+ 
(((1/4*(1.61786118751)^2)))*((1-2ln(1.61786118751))))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-0.0080467... 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 
 

  

  

  

 

Integral representations: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

Now, we have that: 

((((((((6.626* -[5 * 0.001930454136227709*(((((1/2*1.61786118751+ 
(((1/4*(1.61786118751)^2)))*((1-2ln(1.61786118751))))))])))))))) 

where 6.626 is the absolute value of Planck constant 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-0.0533175... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

 

0.034 /  ((((((((6.626* -[5 * 0.001930454136227709*(((((1/2*1.61786118751+ 
(((1/4*(1.61786118751)^2)))*((1-2ln(1.61786118751))))))])))))))) 

0.034 = 34 * 10-3 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-0.63769... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  

  
 More information 

 

Integral representation: 

 
Open code 

 
 

  

 

[((((2*3)/(2*89-3)))] /  ((((((((6.626* -[5 * 
0.001930454136227709*(((((1/2*1.61786118751+ (((1/4*(1.61786118751)^2)))*((1-
2ln(1.61786118751))))))])))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-0.643049... 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

  
 More information 

 

Integral representation: 
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Open code 

 
 

  

 

The following results  -0.0533175..., -0.63769... and  -0.643049... are very near to η = 
0.05393;  ν = 0.638  and  ν = 0.643 

 

 

 

 

 

 

Furthermore, from the inverse of primitive function, we obtain the following result: 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
124.2744... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representation: 
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Open code 

 
 

  

 

Or: 

-1.0061571663 /  -[5 * 0.001930454136227709*(((((1/2*1.61786118751+ 
(((1/4*(1.61786118751)^2)))*((1-2ln(1.61786118751))))))])))))))) 

Where 1.0061571663 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
125.0396... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representation: 

 
Open code 

 
 

  

 

where 124.2744...  and  125.0396... are results very near to the value of Higgs boson 
mass 125.18  
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And: 

-1.0864055 /  -[5 * 0.001930454136227709*(((((1/2*1.61786118751+ 
(((1/4*(1.61786118751)^2)))*((1-2ln(1.61786118751))))))])))))))) 

where 1.0864055 derive from a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
135.01249... result very near to the rest mass of Pion meson 134.9766 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  

  

 

Integral representation: 

 
Open code 

 
 

  

 

 

We have that: 

 

 

 

 



45 
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For η = 0.05393, Z = 1, U = 15625, we obtain, from (87): 

 

-((((1-0.05393/4)/((sqrt(15625+2))))+3*15625-1/2*1.05393*5*15625 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-5705.87... 

Now: 

 

-1/2(1.05393)*5-0.05393+(1-0.05393/4) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 
 

(1/48*((24-19)/(15625+2)^1.5)-
1/48*(((58*15625)+57+1))/((15625+2)^2.5))+5/12*(((15625^2+2*15625+1)/(15625
+2)^3.5)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

-1/2(1.05393)*5-0.05393+(1-0.05393/4)* (-
3.5192014186968281302761584884158382199653073021 × 10^-7) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-2.68875534... 

From this result, we have: 

((((((((-1/2(1.05393)*5-0.05393+(1-0.05393/4)* (-3.51920141869682813 × 10^-
7)))))))))^1/2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 
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Open code 

1.63974 ≈ ζ(2) = 
గమ

଺
= 1.6449 

Then: 

((((-((((1-0.05393/4)/((sqrt(15625+2))))+3*15625-1/2*1.05393*5*15625))))) / -
2.6887553471753785569248145 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
2122.12... result very near to the rest mass of strange D meson 2112.3 

 

-2.6887553471753785569248145 / ((((-((((1-
0.05393/4)/((sqrt(15625+2))))+3*15625-1/2*1.05393*5*15625)))))  

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1 /   ((((((((-2.6887553471753785569248145 * ((((-((((1-
0.05393/4)/((sqrt(15625+2))))+3*15625-1/2*1.05393*5*15625)))))))))) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

10^4 *  1 /   ((((((((-2.6887553471753785569248145 * ((((-((((1-
0.05393/4)/((sqrt(15625+2))))+3*15625-1/2*1.05393*5*15625)))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.651819... 

Note that, from the previous expression with result 2122.12, we obtain: 

((((((((((((-((((1-0.05393/4)/((sqrt(15625+2))))+3*15625-1/2*1.05393*5*15625))))) / 
-2.6887553471753785569248145))))))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.66642... 

And: 

-1+((((((((((((-((((1-0.05393/4)/((sqrt(15625+2))))+3*15625-
1/2*1.05393*5*15625))))) / -2.6887553471753785569248145))))))))^1/15 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.666421... 

 

We have also: 

(0.5097073 + 0.544717185) *  (((((( 1/ ((((((((10^4 *  1 /   ((((((((-2.688755347 * ((((-
((((1-0.05393/4)/((sqrt(15625+2))))+3*15625-
1/2*1.05393*5*15625)))))))))))))))))))))))) 

Where 0.5097073 + 0.544717185 is the sum of two Ramanujan mock theta functions 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.617664421... result that is a very good approximation to the value of golden ratio 
1.61803398 

 

From: 

2012 
Matthew Schwartz 
III-9: The renormalization group 
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From (4), for 𝑒ோ
ଶ = 89; 𝑝ଶ = 995328 and 𝑝଴

ଶ = 576, we obtain: 

89/995328(((1+89/(12Pi^2)*ln(995328/576))) 

Note that 995328 ÷ 576 =  1728, that is the Hardy-Ramanujan number less 1 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
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-21+1/((((89/995328(((1+89/(12Pi^2)*ln(995328/576))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
1672.959... result very near to the rest mass of Omega baryon 1672.45 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

From the inverse of the formula, that is: 

1/((((89/995328(((1+89/(12Pi^2)*ln(995328/576))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
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Exact result: 

 
Decimal approximation: 

 More digits 

 
 

we obtain: 

(((((1/((((89/995328(((1+89/(12Pi^2)*ln(995328/576)))))))))))^1/15 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 

1.641573... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

Open code 

 
 

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

 

1.0061571663*(((((1/((((89/995328(((1+89/(12Pi^2)*ln(995328/576)))))))))))^1/15 

Where 1.0061571663 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.65168... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  

  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

From (6),  
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for 𝑒ோ
ଶ = 89; 𝑝ଶ = 995328 and 𝑝଴

ଶ = 576, we obtain: 

 ((((89/((((1-89/(12Pi^2))*ln(995328/576))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
48.03655... 

We note that, from the square root of (6), we obtain the following results: 

 sqrt((((89/((((1-89/(12Pi^2))*ln(995328/576))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

and that: 

(((((sqrt((((89/((((1-89/(12Pi^2))*ln(995328/576))))))))))))^(1/(2.01*2)) 

Where 2.01 is a Hausdorff dimension 

Input: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.61864173… result very near to the value of golden ratio  
 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
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  
 More information 

 
Integral representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

  
 More information 

 
 

 

  

36*((((89/((((1-89/(12Pi^2))*ln(995328/576))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1729.31614...  
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This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

Note that, we have also: 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.6653982... is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  

 

Now, we have that: 

 

for 𝑒ோ
ଶ = 89, we obtain: 

-3*89/(8*Pi^2) 

Input: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

(-(((-3*89/(8*Pi^2)))))^(1/(12/5)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.66137359… is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Now, we have that: 
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We obtain, from (51), for the values 0.00775 and 0.00782, that are  the values of the 
rest mass of Omega meson 782.65 and charged Rho meson 775.4: 

 (0.00775/0.00782)^(-9/4) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.02044... that is very near to the value in TeV of rest mass of Phi meson 1019.445. 

Now: 

((((10^3 (0.00775/0.00782)^(-9/4)))))^1/14 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.64026... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 

And: 

2sqrt(((((6*((((10^3 (0.00775/0.00782)^(-9/4)))))^1/14))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.274257... ≈ 2ℼ 
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Now, we have that: 

 

From: 

 

For 𝑒ோ
ଶ = 89 and 𝜀 = 1/24 we obtain: 

i((((89/(16Pi^2)*(-2/(1/24)))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
Open code 

27.0528 

(((i((((89/(16Pi^2)*(-2/(1/24)))))))^2 
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Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Approximate form 

 Step-by-step solution  

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

10^3 - (((-i((89/(16Pi^2)*(-2/(1/24)))))^2))) 
 
Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1731.8516…  
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
 
Property: 

 
 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Now, we have that: 
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From (94) for 𝜆ோ
ଶ = 89 and 𝜀 = 1/24 we obtain: 

-1/24*(sqrt(89))+(3*89/(16Pi^2)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

  

  

  

  
 More information 

 

We have also: 

(27*4) * (((-1/24*(sqrt(89))+(3*89/(16Pi^2)))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 

 More digits 

 
Open code 

140.153188… result very near to the rest mass of Pion meson 139.57 
 
Property: 

 
 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  



73 
 

 
Open code 

 
 

 

  

  

  

  

  
 More information 

 

 

(((-1/24*(sqrt(89))+(3*89/(16Pi^2))))^2-(1/10*0.3464719) 

Where 0.3464719 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.64941627... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 

  

  

  

  

  

 

Now, we have that: 
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From (121), for c = 1, Λ௅ = 443,716125, Λு =  41,569219 and 𝜆ସ
௅ = 8, we obtain: 

-1/2(1-(443.716125^2/41.569219^2)*8*443.716125 

We note that 443.7161252  and  41.5692192 are equal to 196884 and 1728 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
202223.1272558... 

From this expression, we obtain, by the ln, the following result: 

ln(((-1/2(1-(443.716125^2/41.569219^2)*8*443.716125))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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12.2171... result that is very near to the value of black hole entropy 12.1904 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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  

 

((((ln(((-1/2(1-(443.716125^2/41.569219^2)*8*443.716125)))))))^1/5 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.64965762... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 

And: 

2sqrt((((((6*((((ln(((-1/2(1-
(443.716125^2/41.569219^2)*8*443.716125)))))))^1/5)))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2922... ≈ 2ℼ 

Series representations: 

 More 

 

Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  

  
 More information 

 

Integral representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

  

  
 More information 

 

1.0061571663 (((((10^3 - (((-i((89/(16Pi^2)*(-2/(1/24)))))^2))))))))^1/15 

Where 1.0061571663 is a Ramanujan mock theta function  

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.654118... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

 

Now, we have that: 

 

 

From (123), for b = 1, Λ௅ = 443,716125, Λு =  41,569219 and 𝜆଺ = 8, as for eq. 
(121), we obtain: 

1/2*(1-(41.569219^2/443.716125^2))*8*443.716125 

 Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

1759.2869...  

This result is very near to the mass of candidate glueball f0(1710) meson. 

((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))^1/15 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.645719... ≈ ζ(2) = 
గమ

଺
= 1.6449 

sqrt((((((6*((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))^1/15)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
3.14234... 

2sqrt((((((6*((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))^1/15)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.284684... ≈ 2ℼ 

We have also that: 

((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))-(9^3-1^3+13) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
Open code 

1018.2869... very near to the rest mass of Phi meson 1019.445 

And: 

((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))+27*4 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1867.2869... result very near to the rest mass of D meson 1869.62 

Furthermore: 

((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))1/(4Pi) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
139.9996... result very near to the rest mass of Pion meson 139.57 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))1/(4Pi)-5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
134.9996... result practically equal to the rest mass of Pion meson 134.9766 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

From the result 139.9996..., that is very near to the Pion rest mass, we obtain: 

((((((((1/2*(1-(41.569219^2/443.716125^2))*8*443.716125))))1/(4Pi)))))^1/10 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.639127...  

1.0061571663((((((((1/2*(1-
(41.569219^2/443.716125^2))*8*443.716125))))1/(4Pi)))))^1/10 

Where 1.0061571663 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.649219... ≈ ζ(2) = 
గమ

଺
= 1.6449 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

((((((((1/2*(1-
(41.569219^2/443.716125^2))*8*443.716125))))1/(4Pi)))))^(1/(85Pi/26)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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1.617925229... ≈ 𝜙 = 1.61803398 … 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 
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Integral representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

 More information 

 

 

 

 

 

 

From: String Theory “Superstring Theory and beyond” Vol. II– J. 
Polchinski 
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Remembering that if λ starts out positive it grows, h <1 is termed relevant, taking 
from the literature the value c111 = 4/31/2 and, from (15.5.18), if k = 1, c = 4/5, we 
have, for λ = 1.617861..., h = 0.6181, c = 4/5 and c111 = √4/3 : 

 

 

 

 

 (0.6181-1)*1.617861^2+(2Pi/3)*(4/5)*(1.617861^3) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
6.09571… 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 
-1.0064637980 * -1 +1/ (((((0.6181-
1)*1.617861^2+(2Pi/3)*(4/5)*(1.617861^3)))))^1/4 
 
Where -1.0064637980 is given by: 

Input interpretation: 
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Open code 

 
where 1.897512108 is a Ramanujan mock theta function 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.642884… ≈ ζ(2) = 
గమ

଺
= 1.6449 

 
Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

 
Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 
 



96 
 

2sqrt((((((-6* (-1.0064637980 * 1-1/ (((((0.6181-
1)*1.617861^2+(2Pi/3)*(4/5)*(1.617861^3)))))^1/4))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2792686… ≈ 2ℼ 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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4/5 + (24Pi^2*6.0957103853482426118171915159953128944456292874611917) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1444.694…  

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 
 

  

  
 More information 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

1/48+[((((((((4/5 + (24Pi^2*6.095710385348242))))))))^1/15 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.645079029… ≈ ζ(2) = 
గమ

଺
= 1.6449 

Series representations: 

 More 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 

 
 

  

  
 More information 
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

2sqrt((((((((6 (((((1/48+[((((((((4/5 + 
(24Pi^2*6.095710385348242))))))))^1/15)))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.283462… ≈ 2ℼ 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

 (((4/5 – 8((((1-0.6181)^3) / ((4/3))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

0.4658047… 
 
sqrt((((((((1.081849^3 / (((4/5 – 8((((1-0.6181)^3) / ((4/3))))))))))))) 
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where 1.081849 is a Ramanujan mock theta function 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.64872… ≈ ζ(2) = 
గమ

଺
= 1.6449 

2sqrt[6*sqrt((((((((1.081849^3 / (((4/5 – 8((((1-0.6181)^3) / ((4/3)))))))))] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.29042… ≈ 2ℼ 

From the product of the three results obtained   6.09571…  1444.694…  
0.4658047…, we obtain: 

27*sqrt(6.09571*1444.694*0.4658047) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1729.28 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
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Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

(((27*sqrt(6.09571*1444.694*0.4658047))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.643833... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 

2sqrt[6*(((27*sqrt(6.09571*1444.694*0.4658047))))^1/15] 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.2810822... ≈ 2ℼ 

 

8+1/Pi(6.09571*1444.694*0.4658047) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1313.73... result very near to the rest mass of Xi baryon 1314.86 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

21+1/e(6.09571*1444.694*0.4658047) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
1530.07... result very near to the rest mass of  Xi baryon 1531.80 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

 

(6.09571*1444.694*0.4658047)^1/17 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.631284... 

 

We have that: 
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Remembering that if λ starts out positive it grows, h <1 is termed relevant, taking 
from the literature the value c111 = 4/31/2 and, from (15.5.18), if k = 1, c = 4/5, we 
have, for λ = 1.617861..., h = 0.6181, c = 4/5 and c111 = √4/3 

 

 

 

 

 

 

 

We obtain: 

 Ai =  1/16 * 2 product (i/16)*2i, i=2..5 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
 
0.439453 
 
1+sqrt(((1/16 * 2 product (i/16)*2i, i=2..5))) 
 
Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
1.66291 is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 
Alternate forms: 

 

 
Open code 

 

 
 
Aj =   (((1/2 * 2 product (i/2)*2i, i=2..5))) 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
14400 

We have that: 

(((1/2 * 2 product (i/2)*2i, i=2..5)))^1/19 

Input interpretation: 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
1.65524 is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

And: 

(((1/2 * 2 product (i/2)*2i, i=2..5)))^1/20 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Alternate form: 

 
Open code 

1.61405 

We note that: 

1/2((((((((1/2 * 2 product (i/2)*2i, i=2..5)))^1/19 + (((1/2 * 2 product (i/2)*2i, 
i=2..5)))^1/20))))) 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Alternate forms: 

 
Open code 
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Open code 

1.63465 

From this result, we obtain also: 

2sqrt[6 * 1/2((((((((1/2 * 2 product (i/2)*2i, i=2..5)))^1/19 + (((1/2 * 2 product 
(i/2)*2i, i=2..5)))^1/20)))))] 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Alternate form: 

 
Open code 

6.26351 ≈ 2ℼ 

While, from the two results 1.66291  and  1.65524, we obtain: 

2sqrt[6 * 1/2((((((((1/2 * 2 product (i/2)*2i, i=2..5)))^1/19 + (((1+sqrt(((1/16 * 2 
product (i/16)*2i, i=2..5)))] 

Input interpretation: 

 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Alternate forms: 

 More 

 
Open code 

 
 

 
Open code 
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6.3104 ≈ 2ℼ 

Now, we have: 

derivative of (-2*1.617861)g 

Derivative: 

 Step-by-step solution  

 
Open code 

-3.23572 

Thence, from the eq. (15.8.9) 

 

We obtain: 

-(-2*1.617861)x * (-3.23572) * 0.439453 – 27*(0.439453*14400) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
-4.60102x – 170589  

For x = (1729*(23.6954 + 11.8477 -0.53)^(1/3)) = 5656.38... 

where 23.6954 and 11.8477 are black hole entropies and A = 0.53 concerning the 
Polchinski equation (see Tables) 

we obtain: 

-170859. - 4.60102 (1729*(23.6954 + 11.8477 -0.53)^(1/3)) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Input interpretation: 

 
Open code 

 
Result: 

 
-196884 
  
Indeed: 
 
-170859. - 4.60102 (5656.38) 
 
Input interpretation: 

 
Open code 
 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
-196884.1175… 
 
Further: 
 
-(((-170859. - 4.60102 (5656.38)))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

196884.1175 result practically equal to the value of following  q-expansion 
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And: 
 
ln -(((-170859. - 4.60102 (5656.38)))) 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
12.19037 result that correspond to the value of the black hole entropy 12.1904 
 
We note that: 
-(((-170859. - 4.60102 (5619.4+34+3)))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

196884.209528 
 
and we observe that 5619.4 is practically equal to the rest mass of  bottom Lambda 
baryon 5619.4  
 
In conclusion, we obtain: 
  
[-(((-170859. - 4.60102 (5619.4+34+3))))]^1/25 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.628428... 
 
And: 
 
[-(((-170859. - 4.60102 (5619.4+34+3))))]^1/24 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.661581... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 
1/2(((((([-(((-170859. - 4.60102 (5619.4+34+3))))]^1/24  +  [-(((-170859. - 4.60102 
(5619.4+34+3))))]^1/25))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 

1.645139... ≈ ζ(2) = 
గమ

଺
= 1.6449 

 
 
sqrt((((((((6 * 1/2(((((([-(((-170859. - 4.60102 (5619.4+34+3))))]^1/24  +  [-(((-
170859. - 4.60102 (5619.4+34+3))))]^1/25))))))))))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
3.141789... 
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2sqrt((((((((6 * 1/2(((((([-(((-170859. - 4.60102 (5619.4+34+3))))]^1/24  +  [-(((-
170859. - 4.60102 (5619.4+34+3))))]^1/25))))))))))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
6.283577... ≈ 2ℼ 
 

 

 

 

TABLES 

 

From: 

Polchinski equation, reparameterization invariance and the derivative 
expansion 
Jordi Comellas_ 
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de Barcelona-Diagonal, 647, 08028 Barcelona, Spain-comellas@sophia.ecm.ub.es 

 

From: 
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From: 

String Theory “An introduction to the bosonic strings” Vol. I– J. 
Polchinski 

 

 

We have that: 

   (A1.57.a) 
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      (A.1.66) 

Remembering that if λ starts out positive it grows, h <1 is termed relevant, taking 
from the literature the value c111 = 4/31/2 and, from (15.5.18), if k = 1, c = 4/5, we 
have: λ = 1.617861..., h = 0.6181, c = 4/5 and c111 = √4/3 . Thence for: 

 qi = 4/5,  qf = 4/31/2 ,  U = 6.09571  and  ω = 0.8975, we obtain: 

0.8975 * (((((16/25+4/3)cosh(0.8975*6.09571)-2((4/5*sqrt(4/3)))) / 
((2sinh(0.8975*6.09571))))) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.878588... 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Open code 

 

1+((((((((0.8975 * (((((16/25+4/3)cosh(0.8975*6.09571)-2((4/5*sqrt(4/3)))) / 
((2sinh(0.8975*6.09571))))))))))))^Pi 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.66588... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
And: 

1+((((((((0.8975 * (((((16/25+4/3)cosh(0.8975*6.09571)-2((4/5*sqrt(4/3)))) / 
((2sinh(0.8975*6.09571))))))))))))^(7/2) 

Input interpretation: 

 
Open code 
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  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.63569... 

We note that the mean between the two values obtained, is: 1,650785 

 

For Scl = 0.878588, from: 

 

we obtain: 

((((0.8975/((2Pi*sinh(0.8975*6.09571))))))^1/2 * exp(-0.878588) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.0144009... 

Series representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  
  

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

  
  

 

We have that: 

12*10^4*((((0.8975/((2Pi*sinh(0.8975*6.09571))))))^1/2 * exp(-0.878588) 



123 
 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1728.11... This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

And: 

1.0061571663((((((((12*10^4*((((0.8975/((2Pi*sinh(0.8975*6.09571))))))^1/2 * 
exp(-0.878588)))))))))^1/15 

where 1.0061571663 is a Ramanujan’s Mock theta function: 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.65388... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

And also: 

(89+2*13)((((0.8975/((2Pi*sinh(0.8975*6.09571))))))^1/2 * exp(-0.878588))))) 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.65610... is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

Series representations: 

 

Open code 

 
 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 

Open code 
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  

  
 More information 

 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

 

 

 

 

 

 

 

Appendix A 

 

From: 

https://plus.maths.org/content/ramanujan 
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https://plus.maths.org/content/sites/plus.maths.org/files/news/2015/ramanujan/page_large.jpg 

Ramanujan's manuscript. The representations of 1729 as the sum of two cubes appear in the bottom right corner. The equation 
expressing the near counter examples to Fermat's last theorem appears further up: α3 + β3 = γ3 + (-1)n. Image courtesy Trinity College 
library.  

We note the two sum of two cubes: 

93 + 103 = 123 + 13 = 1729     and      63 + 83 = 93 – 13 = 728  

729 + 1000 = 1728 + 1 = 1729          216 + 512 = 729 – 1 = 728 

This two numbers 728 and 1729 are very important for the development of 
mathematical connections with the String Theory and the Particle Physics 
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From: 

https://eylemmath.weebly.com/algebra/category/ramanujan 

 

 

((((6860)^1/3)-19)))^1/6 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Decimal approximation: 
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 More digits 

 
 

Alternate forms: 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

1/2 1/ (((((((6860)^1/3)-19)))^1/6)))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.602304...  
 
This result is a golden number very near to the electric charge of positron 
 

-144-10^3 ln((((((6860)^1/3)-19)))^1/6)))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 
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 More digits 

 
Open code 

1020.589… result very near to the rest mass of Phi meson 1019.445 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representation: 

 
 

((((((10^3 ln((((((6860)^1/3)-19)))^1/6)))))))^1/14 
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Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
Open code 

 
 
Polar coordinates: 

 Exact form 

 
 
1.65582 is very near to the 14th root of the following Ramanujan’s class invariant 

𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  

 

Integral representation: 

 
 

1/2( 0.0660+0.05393)+ln((((((6860)^1/3)-19)))^1/6)))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-1.104625... result very near to the value of cosmological constant with minus sign: 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representation: 
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We have also that: 

1/2(1.897512108/6)+ln((((((6860)^1/3)-19)))^1/6)))))) 

where 1.897512108 is a Ramanujan mock theta function 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
-1.0064637980...We note that this result is very near to the Ramanujan mock theta 
function -1.0061571663... and to the equation of state of dark energy w = -1.006 ± 
0.045. 

  

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
Open code 

 

 From: 

https://www.quora.com/Why-is-Ramanujan-considered-one-of-the-great-
mathematicians 
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This is one approximation formula of Pi mentioned in Ramanujan’s letters: 

 

 

 

 

((729+34+5)(sqrt(2-sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1)) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
3.1415904632... 

((729+34+8+3+1)(sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1)) 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

3.17022475130434742734024133085480154395126144430174825261... 

Where 775 is practically equal to the rest mass of charged Rho meson 775.4 

Indeed, we have that: 

3.1702247513043474/(((((sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
775 

1/6(((((((([(((((((((729+34+5)(sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1))))))))])))))))^2 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

1.64493177... = ζ(2) = 
గమ

଺
= 1.6449 

Alternate form: 

 
Or: 

(295188 - 196884) ((((((2 - sqrt(2 + sqrt(2 + sqrt(2 + sqrt(2 + sqrt(2 + sqrt(2 + (sqrt(2 
+ sqrt(3)))))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 
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Decimal approximation: 

 More digits 

 
1/6(((((((([(((((((((729+34+8+3+1)(sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1))))))))])))))))^2 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
1.6750541… result very near to the neutron mass 

-1.0061571663* -1/6(((((((([(((((((((729+34+5)(sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1))))))))])))))))^2 

Where -1.0061571663 is a Ramanujan mock theta function (is interesting to observe 
that this value also correspond to the equation of state of dark energy w = -1.006 ± 
0.045) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6550598... is very near to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

 

And: 

1/(-1.0061571663^e) * -1/6(((((((([(((((((((729+34+5)(sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1))))))))])))))))^2   

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.617712... very near to the value of golden ratio 

1/(-1.0061571663^((21+5)/5)) * -1/6(((((((([(((((((((729+34+8+3)(sqrt(2-
sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+sqrt(2+1))))))))])))))))^2 

Input interpretation: 



140 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.618248011... result very near to the value of golden ratio 

 

 

 

 

 

We have that q = 13,217613181363261588521776074453  
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From: 
Astronomy & Astrophysics manuscript no. planck˙parameters˙2015 c ESO 2016 
June 20, 2016 
Planck 2015 results. XIII. Cosmological parameters 
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Note that, regarding: “.....the equation of state of dark energy is constrained to 
w = -1.006 ± 0.045, consistent with the expected value for a cosmological constant.” 
This value is practically equal to the result of (ii) Mock ϑ-function of 7th order  
-1.0061571663...., value, which for the time in which it was calculated, coincides 
(and perhaps is even more precise) with the data detected by Planck observations 
2015 
 

thence:  

w = -1.006 ± 0.045   Mock ϑ-function of 7th order = -1.0061571663  

We have also that: 

5,608437 - 1,962364 - 0,59578 = 3.050293,  value very near to the relativistic degrees 
of freedom Neff = 3.046  

27,208033129 × 2 + 8,0442562 + 4,58732381 + 0.5447171 = 67,592363368, value 
very near to the Hubble constant H0 = (67.8 ± 0.9) 

1.61052934 * 1/5 = 0,322105868, value very near to the matter density parameter 
Ωm = 0.308 ± 0.012, 

or: 

1.22734321 * 1/4 = 0,30683…, value very near to Ωm = 0.308 ± 0.012. 
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We note that all the values of the numbers utilized for the computations, are 
Ramanujan Mock theta functions! 
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Three-dimensional AdS gravity and extremal CFTs at c = 8m 
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